
 
 
#916172   Page 1 of 1 
 

PARTS LIST FOR #6172 
LOWER A-ARM MILD STEEL FOR STREET MACHINE 

 
 

NO. QTY PART NO. DESCRIPTION
1. 1 5022 Driver’s lower a-arm mild steel 
2. 1 5023 Passenger’s lower a-arm mild steel 
3. 4 1225 Pivot stud .75 x 2.50 x 5/8-18 mild steel 
4. 4 3632 Oval point 5/16-18 x 3/8 set screw 

 
 

Refer to your Installation Guide for assembly procedure. 
 
 
Revision Date: January 8, 2004 

    
    
 

 
 
 
 
#916172   Page 1 of 1 

 
PARTS LIST FOR #6172 

LOWER A-ARM MILD STEEL FOR STREET MACHINE 
 
 

NO. QTY PART NO. DESCRIPTION
1. 1 5022 Driver’s lower a-arm mild steel 
2. 1 5023 Passenger’s lower a-arm mild steel 
3. 4 1225 Pivot stud .75 x 2.50 x 5/8-18 mild steel 
4. 4 3632 Oval point 5/16-18 x 3/8 set screw 

 
 

Refer to your Installation Guide for assembly procedure. 
 
 
Revision Date: January 8, 2004 

    
    
 

 
 


	PARTS LIST FOR #6172 
	LOWER A-ARM MILD STEEL FOR STREET MACHINE 
	PARTS LIST FOR #6172 
	LOWER A-ARM MILD STEEL FOR STREET MACHINE 

